1. The ratio o@@ren to adul;@in one section of the theater was 16 to 24. If

there were a total of children in the theater how many adults wer there?
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2. A quality control employee samples 80 light bulbs from the production floor and
finds that 3 of them are defective. If there are 1000 bulbs produced each day, how

many of those will be defective? M /Y d/o ?




1. Use these similar figures to find the F
value of x and y to the nearest hundredth.
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2. Are thes:% go trapezoids similar? N 10 ¥
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FIGURES ARE NOT DRAWN TO SCALE

Is each pair of triangles similar?

If yes answer the following: c
a. Give the postulate or theorem used.

b. Write the similarity statement.

c. Give the similarity ratio if possible. 2




Find the geometric mean of each pair of numbers.
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Use the figure at the right to complete each proportion.
AD 58 14 CF _ FI

B.5G = &5 - BB
JA AB JE
lﬁ.ﬁ =Yg

ls.f = m
GH AD
17'? =%7g' IS.E=%

Find the values of the varifbles. ! ){ %\é
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36. The altitude to the hypotenuse of a right triangle divides the
hypotenuse into segments 6 in. and 10 in. long Flnd the 1
h of the altitude. f‘xg‘

G\f

|0



